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3T MRRBEE Gokkix)

FERARALL « Skk) CHIRE y = ()T fA+x)— f(—x)=0(xeR), H f(x)7E[2,+0) LK

R W C)
(A) f(log,3)> f(log,5)>f(3) (B) f(log,5)> f(log,3)> f(3)
(C) f(log,5)> f(3)> f(log,3) (D) f(log,3)> f(3)> f(log,5)

=5XE: B

G f(x) 1R [2,+00) LONIRRAU 1S 2 HACE S 2 HUBE B8ORS, sRAUERN, Wi,

Ifi |log, 3—2| = [log, —| = log, =

+x)— f(=x)=0= f(x) B R KT HZ x = 2 X FR,

3 +
log25—2‘:log2%, J=2i=1s

4

4

Hlog,2 <log, =<1, FFEA £(3)< f(log,3) < f(log, 5).
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2. (2022 -

3

PEVTAAL « hkk) B XAE R EHIARE F(x) L f(x+8)=f(—4—-x), HXxe[0,2] K,

f(x)=1-3%, M| £(2022)= C )

(A) -8
EZE: D

BERT: f(x

(B) 2 (C) 2 (D) 8

+8)=f(4-x)= f(x) KT x=2XF, f(xX) AERE = f(x) RKTIREF, FrCAEEN 8,

I

M £(2022) = £(253%x8—-2)= f(-2)=—f(2)=—(1-3) =8.

3. Okkk
N, f(x) =
(A) f(x)

(B) f(x)
(C) f(x)

) (Z38) X f(x) &€ XAE R _ERMERE, HXMEEM xeR, T f(x+2)= f(2-x), Hxe[0,2]

1
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(2) Al

RS, B AN 2

AR 1, %Mﬁ%%

E[2,4] bR, 7E[4,6] b Ba i




(D) Hxe[2,4]0F, f(x)z(%)”

E%: BC

R AT, f(x) BB = f() R T x=0X0F, f(x+2)=fQ2-x)= f(x) KT x=2XF, FrlL f(x) =2
L4 9 AR IR 2, B A TR IR

B I, =xe[0,2]H, f(x)=(%)2*", 4itr f(x) =N 4 SR ETER £ (o) RBE R W, b Ew

Bl (), = £(0) = % . (). = fQ)=1, B BEH:

C I, HEIE SRR IR F

D T, BEE f(x) E[2,4] £\, T y=(%)“?53 [2,4] &/, ¥ D I X,

» X

4. (edked) EHTEREL £(x) = In(Wx® +1—x)+1, 5B 35 R BIREL g(x) L g(—x)+g(x) =2, BERE y = f(x)

5
Eyzg(x)m%%%iz*ﬁ%(xpyl)’ (x23y2)’ U (xsnyS)’ IJ‘UJ Z(xf_l_yf): ( )
i=1

(A0 (B)5 (C)10 (D) 15

ZXR: B

AT

EEE y = In(Vx® +1-x) NA R, HESXE TR AR, Bl £(x) KBS T & (0,1) % F5,

M g(—x)+g(x)=2, ALl g(x) BRI T 50, D)XFK, # £(x) 5 g(x) A RRT R (0, 1)K,

5
FrCAP R B BB, B EIPTAL, X +x, 4+ =0, y 4y, ety =5 FTELY (x,+y,)=5.
=1

5. (2022 « YL « Sekk) BRI F() WL F(xX)=fQ2-x)xeR), Hxe[0,11Kf, f(x)=2-2x*, N
PR g(x) = f(x)-2log, x| M BEZRZAN ¢ )

(A) 4 (B) 6 (C) 8 (D) 10
EX: B

BRI f0)=fQ2-x)= fOOPEZRKRT x=1XF, F)NERE = F(x)BIEZRKT y BXTER,
FITCL £ (x) i) ) | , TEHE S anE, HERFNEZRAE 6 M,

hd

N2, g(x)=0& f(x)=2log, ‘x—l




HENHMRTEHLZL x =1 XK, HEAA XA;LXBZI’ FTlhx, +x, =2, FBEE, x.+x,=x,+x,=2,

W g(x)IERZMN X, +x, +x.+X, +X, +X, =6.

6. (hdkkk) ORI f'(x) 2 BRE f(x) FIFERE, & [+ A ') a8, H f(0)=2, N
f(2)+ f(4)+-+ [(2022) =

BR: 2

AT -

f(x+2) NAERE = f(x) FERKT 12,00 08K, FrEd £(2)=0,

1O ATTERE = £ 00) ABEEL B £ B RET y BIRERE, £ Co) B
WM 8,

NN fO0)=2, H f(x) KT Q2,00X%F%, Bril f(4)=-2,

N f(x) AheREL HEMAN S, BTLL f(6)=f(-2)=f(2)=0, fQ®)=/f(0)=2,

M £2Q)+ f(d)+ F(6)+ f(8)=0+(-2)+0+2=0,

Bf2)+ f(4)++ £(2022) =[f(2)+ f(D)+ f(6) + f®)]+[f(10) + f(12) + f(14) + f(16)]+---
+[£(2010)+ £(2012)+ £(2014)+ £(2016)]+ £(2018) + £(2020) + f(2022)

= £(2018)+ £(2020)+ £(2022)= f(2)+ f(4)+ [ (6) = 2.

7. (2021 « EEHE « Kokkok) WRE f(x) BFIE XN R, f(x+D) NEHRE, f(x+2) AERE, =

b

xe[L, 210, f(x)=ax*+b. & f(0)+ f(B)=6, ')_J,'Jf(%)z C )

W -2 ® -2 ol m:?2
4 2

4 2
Z2HE: D

R SO+ NEERE = f(x) ERKT A GO XFFR, Frel fA+x) =—f(1-x) ©,
fx+2) NERE = f(x) IERKRTEZ x=2X%, bl fQ2+x)=1(2-x),

.Mﬁﬂﬂ%ﬁ4%ﬁ;%ﬁ%@ﬁ,%ﬁﬂ%=ﬂ§,

{E f(Lx)==f (=) T =1 £ () =-f G)» FEA fC)==f ()=~ a-b.



E fA+x)=—f(1-x) P x=1 715 f(0)=—f(2)=—da-b,

fEFR+x)=fQ-x) T W x=118 f3)=fD)=a+b, FLL f(O)+ f3)=-3a=6, Wa=-2;

HEOFE x=01 f) =1, FrLL fQ)=0, M fA)=a+b, Frlha+b=0, &G a=-2"1b=2,

ﬁﬁuf(%)z—%a—bzg.

8.(2022 “&[EH 4 hkkd*DCHIERE f(x), gx) BFIEXIBEINR, H f(x)+g2-x)=5, g(x)- f(x—4)=7.

=y =g(n) MERETFHL v =245, g@=4, WY /)= C

(A) =21 (B) =22 (C) -23 (D) 24
EHZ: D

A

Egx)—f(x-H=THK x#HK2-x0]1F g2-x)- f(-2-x)=7, Filhg2-x)=f(2-x)+7,
RN f()+g(2-x)=5 713 f(x)+ f(-2-x)+7 =5, FTLL f()+ f(-2-x)=-2, W f(x) RF (-L-D) XFx O,

g(x)— f(x=4)=TH[1F f(x—4)=g(x)-T7, RFx K x+4 713 f(x)=g(x+4)-7,
M f(x) AT H g(x) £ 4 DMHAL, 7 ANEALER], W fF(0)RTHZE x =25 @,

Zi5ORI15 f(x) &L 4 N BAR B R 2L,

B, f(x0)XT (-L-D)XFR, BBl f(-)=-1, # f(3)=-1,
N f(x)RTF x==2X%F%, Frbd f(=3)=f(-D)=-1, &g~ 4G5 f()=f(-3)=-1,

N

NNg)=4, £ f(x)+gR-x)=5FH x=00]15 f(0)+g(2)=5, Ll f(0)=5-g(2)=1, ¥ f(4)=1,
FO)=1LLE f(x) KT (-1,-) NIRRT f(-2)=-3, &N 4715 £(2)=-3,

It LA if(k)=5><[f(1)+f(2)+f(3)+f(4)]+f(1)+f(2):5><(—1—3—1+1)—1—3:—24.

9. (2022 *HEH UG « hdhkhK) HERE f(x) FIEXIB AR, Hfx+y)+ f(x=y)=f(x)f(), f)=1,
WS = ¢

(A) -3 (B) -2 (C) 0 (D) 1
EE: A

WA 1

fE [+ )+ f(x=3) = @RS 0) 12 y =1 [ (x4 D)+ fx=D) = () D,



FFLL f(x+2)=—f(x=1)» AT f(x+3)=—f(x), B f(x+6)=—f(x+3)=f(x), FTEA f(x) KO

E fx+ )+ f(x=p)=f(x)f () TR x=1, y=001F2/1)=f(1)f(0),
X fMy=1, Frbh f(0)=2, Z&HMN 6 f(6)=2,

Lx=y=10]18 Q)+ £(0)= £*1), FTLL £(2)= F*()- £(0)=-1,
S x=2, y=10[1]G fO)+/D=rQ)f V), AT Q)= fD-fD=-2,
E f(x+3)=—f(x) T2 x=10]1F f@=—fD)=-1, 2x=27]1F fO)=-f(2)=1,

o
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] “
N 6;
S B ]

Y

FEOF R x Bl x+1 718 F(x+2)+ f(x) = f(x+1), ZEROAE Fx+2)+F(x)=F(x)-f(x=1),

FTLL £+ F(2)+-+ f(6)=1—-1-2-1+1+2=0, Eﬂzif(k)=f(1)+f(2)+f(3)+f(4)=1—1—2—1=—3.

BEE2: W f(x)= 2003%)5 , AHMESS R 2 BT 2, St — PRk if(k) =-3.



